Homework Algebra 10


The height of a rocket is given by the equation[image: http://my.thinkwell.com/questionbank/42001-43000/42388/img/90171.png]where the height is measured in feet above the ground and the time, t, is measured in seconds. How long will it take for the rocket to hit the ground?


	Ann has a 32 oz. bowl of M&Ms on her coffee table. The candies are 50% blue M&Ms. 

She eats some of the M&Ms (which are 50% blue), then fills the bowl back to 32 oz. with a package of M&Ms that contains 20% blue ones. 

If the resulting full bowl (32 oz.) contains 40% blue M&Ms, how many ounces did she eat?

	



A cone has volume [image: http://my.thinkwell.com/questionbank/8001-9000/8586/img/85397.gif]where r is the radius of the base and h is the height. If a cone has a volume [image: http://my.thinkwell.com/questionbank/8001-9000/8586/img/85399.gif]cm3 and the radius is 9 centimeters, find its height.

Solve for y: [image: http://my.thinkwell.com/questionbank/8001-9000/8530/img/84398.gif]


A playground is in the shape of a trapezoid, with the longer parallel side twice as long as the shorter side and the height equal to the length of the shorter side. If the area of the playground is 66,150 m2, find the length of the shorter parallel side.

[image: http://my.thinkwell.com/questionbank/8001-9000/8850/img/212093.gif]

	[image: http://my.thinkwell.com/questionbank/8001-9000/8782/img/206122.gif]

	


Find the length of the three equal sides of an equilateral triangle with height 11 units.

[image: http://my.thinkwell.com/questionbank/2001-3000/2504/img/202040.gif]
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